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SAY / IMPROVEMENT EXAMINATION, JULY - 2022

Part — 111 Time : 2 Hours
ELECTRONICS Cool-off time : 15 Minutes

Maximum : 60 Scores
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General Instructions to Candidates :

~

There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 5 questions from 1 to 9. Each carries 1 Score. B x1=5)

1.  The output voltage of 7909 voltage regulator IC is

2. The circuit which changes the DC voltage level of a signal is

3. A4 :1 multiplexer has number of select lines.

4.  The maximum value of modulation index in AM is

5. Sky wave uses layer of atmosphere for its propagation.

6.  The minimum sampling rate of a 1 kHz signal is

7. Light ray travels only through part of the optical fiber.

(core, cladding, polymer coating)

8. The number of frames used in one second in TV system is

9.  The memory from which CPU receives data directly is
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PART -1
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B. Answer all questions from 10 to 13. Each carries 1 Score.

10. One example for a shunt voltage regulator is

4 x1=4)

11. The modulation technique in which message is added in the carrier as frequency

variation is

12. Pulse dispersion is minimum in type of optical fiber.

13.  The network of computers arranged in a small office is called

PART - 11

A. Answer any 2 questions from 14 to 17. Each carries 2 Scores.

14. Draw the output of a differentiator when input is a square wave.

15. Write the truth table of a SR flip-flop.

16. Draw a FSK signal.

17.  Write two light sources used in optical fiber communication.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 2 questions from 18 to 20. Each carries 2 Scores.

Briefly explain VSB.

Write two examples each for input and output devices of a computer.

Explain the basic function of a MODEM.

PART - 111

Answer any 3 questions from 21 to 24. Each carries 3 Scores.

Draw the block diagram of a regulated power supply.

Draw the frequency spectrum of AM signal.

Compare TDM and FDM.

Compare centralised SPC and distributed SPC.

Answer any 2 questions from 25 to 27. Each carries 3 Scores.

Draw the circuit of a one bit comparator.

Draw bus, star and ring topologies of networking.

Explain the concept of frequency re-use in mobile communication.
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29.
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PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 Scores. B x4=12)

(a) Draw the frequency response of LPF, HPF and BPF. A3

(b) A signal contains frequencies from 0 Hz to 5 kHz. Which filter will you suggest if

you want to remove frequencies from 0 Hz to 3 kHz from this signal ? 1

Draw the circuit of a positive clipper and explain its working.

(a) Whatis a T-flip flop ? 2)

(b) Write its truth table. 2)

What is critical frequency in sky wave propagation ? Write its equation.

Answer any one question from 32 to 33. Carries 4 Scores. (1x4=4)

Draw the circuit of a zener voltage regulator. What property of zener diode helps in

voltage regulation ?

Write four differences between static RAM and dynamic RAM.
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PART -V
Answer any 2 questions from 34 to 36. Each carries 6 Scores. 2x6=12)

34. A carrier of 100 W is AM modulated with 0.2 index. Calculate the total power of AM

and power in one side band.

35. (a) Draw the structure of optical fiber. 2)
(b) What is total internal reflection ? 2)
(c) How light ray is travelling through the fiber ? 2)
36. (a) How interlaced scanning differs from normal scanning ? A3
(b) Discuss the merit of interlaced scanning. 2)
(c) What is the total band-width of a TV channel ? 1
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